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Roll Na. R R AR g (To he‘ﬂf!ed in bl’ the candidate)
Maximum Marks: 20 (OBJECTIVB TYPE) Time Allowed : 30 Minutes
NOTE:Four possible answers A, B, C and D to each qmﬂw era g%ven The choice which you think is

correct, fill thal circle in front of thal guestion with Marker or Pen Ink. Cutting or filling two or
mora circies will result in zero mark in that guestion.

Qt. : ﬁ 20
L. I°Cy="C,,, where C stands for combination then value of n is equals to:
(A) 4 . {B)20 €
©) § u . )12 .5
2. Theinequality n” > n + 3 is true for: o
L HARYNRR : (B}‘r"a%s‘
SHC) D, ! Oynz1
3. The coefficient of the last-term-inilke exp-nsiau of (x-- )’ e
(A) =1 :
© 5 :
4. Sin® (58)+Cos*(50) = _
(A} S o8 pd : 3
© | o1 A% 144
9y 'qu guq ?eii&:niﬁi%‘s “Siu 2 n =iy APt !
(AY:f 3 $inta ; (B) gsmaCustx e .
(© 2Cos o~ | , (a}cusm--:si:ﬁ ol |
6 The shmiliest positive sumberp for which f{x +p) =1, e
: (A) Index (B) Domain_ [ (D) Périod
AT e ey 2
(A) 7y By ik _ (C) ~s-—-b i e o3
8. If AABG is right angk lrilngie nch thnt mza = %‘, lhen with usual notations, the true
sta'iemcgt is: :
(A) w="b?+¢? e L P @) e R S
(C) =g+ S (Dyal=br=ct -y e
9. Thedomainofy=S8Sin'xk:. . =~ - =
(A) ~1<x <] e e R S e
Bty it ‘ = —— .

13
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LG TasELT, (D) THh<x<l
10. IfSinx= 3 thenx=__ _. Ge A : ’

11, Iifnis prime the

\@*

% s

12, If a. b € G, where G is ag |
Aya b




7116120,
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\lultan Bnmd 2018 (First {,mups

Maximum Marks: 80

2. Attempt any eigmpartsih : (18)
" m "jﬁQ"rﬁ_ie Closure Li;u' aﬁd Commutative Law of Multiplication of Real Numbers.
; (i1} Show that z* + (Z)° 1s & real number, Vzec

(iii) Showthatz.z =2 .z € c.

{iv) Define a semi - group, sl

{v) Write number of elements of sets {ﬁ :l;'};ar—ld '{:{2.5)} | | ;

{¥vi) IA=11234} then write a rclauomn A for- {{x1 y)/x iy 5}
i :-hm) Dcﬁne Symmemc and Skcw Smmemc Matﬁx TR

i

'*" £ ':fﬁiii);ffélhc'mairix Z ; ? is xymmetﬂc,'thenﬁndvalueof;, ¢ :
.:i Y :; ..‘.?,‘_ 1 ‘ v : B+Y 1 1 ¥
{n\) Wuhout cxpansmn. show that P ooty =0

ynni-ﬁl

1 TS AT

ok (—5) F (—3)'%.___.

; ,4,’.,

amoum 10 65‘7 ‘

ul‘m ralhu{ s DR R nrnhohﬂ:no that tan ehmum'l A .d. ‘Ante -

113



3/16/2019

xrmy TR At 23N IIw R § TN Al !-'ICJU“UIIH'\ BERLAL “u"i TIFVIN G &7 U TV ML

: i : 1.5 L. -c i
{x} -{Use mmhematical induction to verify for._n =J.2 1 +§-+E+: ek il I 2[) - ?:l
m) Calcuime (©,98)" by means of binpmiel thecmem. _ :

(P s 5
(m) E.xpand -‘»'l-m uplo 4 —emms, takmg !be ﬂlm af X sueh lhat m cxpcm!won in mh cait

s wailid,

4. Attempt any nine pans e T e s - 18)
(i)  Cpvert the anglé 54° 45'into radians. .~ ' eds Bk
(ii) Find r, when r = 56cm 8 =45"in 3 circle,
. | I
(i1} Prove that l+sin‘8 S = 2Sec’0
fiv) IICasa=4U= '3‘- find the the value of Cot &, where 0 <« < *E,E
(v) Ifu, B.yareangles of a triangle AABC, then prove that Sin(a +B)= Smdy M‘{ “
Sy a1 'a, % i.\
(vi) Prove that Sinda = 3 Sinat — 4 Sinla, < E;;..m‘_:‘f i ‘

(vii) Find the period of tan 'g— i

wg% }%L %f:.;f

arealol SAHCK a*“zwbﬁj%maiudedanglc7=150°
Fmd R‘nf‘a ’13 h=14, c*lSarerhes"’idcsoftriangleMBC

i 2
. 4 < ey,

(viii) State the Law .om Jhines

(:u) Find the value of Sm(("s o TR} b e e Do

“(xii) Solve the equation Sinx = %» i g

(xiii) Solve Sinx + Cos x =0 Gl s R e
Note:  Attempt any THREE questions. : g T
05. (a) Prove that an nun-slauular matncas of qrder 2 x 2 over: mlsﬁeld Igrm a nonsabelhn umy

- under muitlp!icaﬂun : & <5
(b) Find the value of A for ‘which the nauowhm mtum does nu! pnm:s a ‘uniqus soll.mn m
" solve the system for the value of A. - dp

XX+ AX =2, 2 X-2=11, 3x1+21,~21, 18

_7‘06 (a) ‘Shuw ihat the roots of the aqmﬂm XE— 2’(‘“ +%} X -‘i- 3 -:B,’m;tﬂ, am real,

Ive1 ,‘ into parkaldaston, 1 g

. () Sum the series: iy J-'l‘.' e J"'* b s e
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"

n
; (b} Determine the middie terms in the expansion of (?’x-ﬁl)

- 08, (o) Provethe following identiy: sin'0— c0s% = (s - Gos®0) (1 i 0 ost). %
sin0+8in30+sinS0+¢in70 e
(b) Prove that: c053+¢0330-rc0359 mm ‘h 1

£ :‘z
‘\

0s. (a) Pfﬂf that (r, + f!)T? ). f‘;_;;

ok {b’ﬁ% dos? 2'§+2ran-v%=sm4§-

]
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Roll Na. ed §n by ‘thecandidate)
Maximum Marks: 20 (OBJECTTVE TYPE)

NOTE:Four. pogsibie anaweis'A, B, C and D to each question are given. The choice which you think.Is
correct, fill that circle in front of that question with Marker or Pen ink. Cutting or filling two or

: more circles will resull in zero mark in that question.
Q1. ' ; 20
—t)

M3 -8). is equsl to:

ab _- Af; ' .

Time Allowed : 30 Minutes

L lnany trisngle AABC, with ususl notation, |

(A) \mé (B) COS%
{C) sin {;; (D)GOS%‘ %

“Ana righ angle triangle no angle is gmater than.

N o0 @30
(C) 455 (D) :_507 ;
3.5 THe vsl?c of sin-1 (cus’“) lsequalto:
w3 oy
Ve ® 3

[l
x

-_‘4. l!‘sin x=r -i':hen x iscqual !o..

Sn ol s e 51: |
) 2"“ | s 6 s
() 2= L 5 .

G IRV AR
5. '‘Multiplicative inverse of complex number {‘[— \/_) is'i,_ B TR MR

»

‘:.. £
Wik,
AL '4*
~i it

LN

)
<
ol

f

?]

G
|

6. WA, Bare two sets then A7) (ALB) equals: ;
1
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(A} A C(B)AUB (© B (D) ¢
A square matrix A is called skew symmetric ifA'=

(A} A {(B) A {C.) -A R (D}wA

2 K
If |5 7] =2, then A=

{A) 1 , ® 2 ©3 (D) 4

0.

10.

|15

12.

13.

14,

515

lﬁ.

l?

A rc-ciprmral equation. remains. unchnnged wheu u:hb!ex is replaced by:
I

{A) — (B) xz ‘
(C) — Dy 3 x il
SIxy=3x* +4x3 4 x = 5 is divided by x + l then. remlinder is. 4
(A) -6 : :
{C) 6
Types of rational fractions are:
(A) Two : |
{C) Four !
Harmonic Mean between a and b is:

3% B

lrgw, ]

(A) -5

(C) 5

“c:,._, +"C,.; Is equal to: (wkereﬂ is combiu
(‘“‘} (A |

Lol SR G
The nlue ofn wh&m ’“? = i
(A) 0 '
ey g
nithe eipnmion "t:f ( 3 ¥ t)“ m!ddle,m, _‘
(Aj 8l ' A
{C) 262 f 5 i )N
The inequality 4n s > 3" + 4 i;!valid ifn ist ;'. o i :
) =2 o L Bk
(C)yn=-

1a Balle

-

213
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i6. The angle;f; is degree mensure is?

(A) 30° ammyRRe G
C{C) 45 OIS
19. tan(n -~ a) equals: b

(A) tan

(C) cot e
20. Period of cot 8x is;

Wb

33
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az.

iy Find X and 'y il the matrices arc-._as[ e ¥

CANEDIFA = Ly )54 then show that I3 A = A

x) Sdlvt the following e_qualicm-ﬁv faﬁnﬁﬁh@ﬂi'

Roll No.

Maurimum Marks: B0 (SUBJECTLVE

‘f(nl W huul e\pansmn show that

“(x1) ‘Show that x7 -

(st Use remamder theorem to ﬁnd'ﬁw remm der.

i)
L PART.

Attempt any eight parts. - - | 3
7T BE R
Ly Prove that 13 --ﬁ: i - W- by _)l.ibf!i\‘ln]:, »-¢ach ‘ilé‘p {awriting each: Pr("}’ll-l'l) )

iy Simphiy the tollowing (5, -4) = (-3, -8)

(111y Prove that 2 = z iV and only i1z is real.

{1vi Write two proper subsels of the set of real nt;m}g:;i; R. i

i) Construer truthtable tor the ib}lnwigig-(‘l?'-*\ “ﬂ)“"ﬂl Ry

{vl) Forasel A
of R. )
X3

{1
I3
17

¥y = _v}(x' m\)(\mw

as. -:..Atlampi any eight parts
ol i}eﬁnc a Partid] F'raction.
:;.( H) .é :: ‘arein srithmetic pmgwssién.% hm} .!l"t%-’

'-'(wi Hxhuﬁcrlc«x }*’% _4 _’*Tg"’*

.‘

-

'(_\5) l! S8 llurnmnlc mcan ﬂcl}seﬁﬁé %\ b e ’md “h"

ru j]»}’ W%
(vi) I’mwﬁhﬂl ik fx"

(vii) Hrm Mgy 3 dt;..m, mihiples of "3” can be formed from the digits 2. 3, 5. 7,9 when no digit

1o be repeated”?

173
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04.

ey Band o 7O O 0 15 used for combination)

tin) What s the probability thut @ slip of sumbers divisible by 4 is picked lrom §lips bearing
numbers 12,3, auwagihll B e

(v Lise Bindnnal Theorem. Nind (21)°

; = i
(a1 Expand gp o lourterms (8 - 2x)

LR R R

i s be so small that its square and higher powers can be neglected. Then prove

i b
|;}[

Attempl any nine paris. (18)
{0 Fnd " are length) when r = H8mmand 0 = 63° 20,

tir)  Ifsec < 0 and sin 6 < 0. in which quadrant terminal arm of '9' lies.

3
tiv) Prove thar Sin(180° + B) Sin(90° ~ 9) = - Sin 0 Cos 8
(vi Find the value of Sint3° :

21809
v: » P i F }oam e ————
(1) lr\»c that 1en20 = 720 5

oo .
o y Sm’ --‘sm~-—+mn =3
(iit) Show that 3 4 ‘

ivii) Find the pedod of ’Cns% %;‘ SRk
(vii}) In & right AABC, afb 30 8,,9 Find (rnndp A

g A s
(ix) Find-the area qh\&Bf; in wﬁnn‘h =21.6,c=302and a= {.1'2"“40;.
X1, !Jeﬂm. “Imrabeﬂ‘c’mh ; ) :

: {\z} ‘&hm.'» lim Cos (‘im X = -u'%—\' > _ Bik Al

e _ ] Fpn |
(x11) Solvethe equation Siny = 5 where x & [0, 2n)
(xiii) Solve the equation 4Cos(2 x = 3 = 0, ‘where %' e [0, 2x]

Note:  Altempi any THREE queslions.

Q5.

Q6.

Q7.

J.

{a) Show that the set {1,0,02}, (where wi=1), isan abe!lan nrnup w.r. l urdinan- mumpucnﬁnm 5
{} Without,expansion verify that g -ac ‘l')b e i o
41 ' ,
(&) Resolve 35 into Parlial Fraction. 3
(b) Solve the equation +/3x* - 7x =30 - /2x2—7x-5 =x-5 "5
{(2) Find the value.of n so that -Eg:'_-'-:'gﬁ may be the Arithmetic Mean between a and b. . 5
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(E} Use mathemalical induction o prove that the lallowing formula helds for every positive integer

Ll ot 1 5 1 PR
. LR I e R T " En-T)(@n+2) " 2@EnT2) P
Q8. (a) Frove the sin® + cos® = 1 -3 sin2 0 cos? o CEP3haitchy
- 2n 4:1 i3 m% %N R i
Q9. (a) Tite sides of 3 triangle IR -&}": ’}%i?l,hd f‘ 1 5
Prove that the greatest angm nflha triangle is 120°. i
Ths 63 1 . 1§ i
(b) Prove {hat Cos- B5 +2tan”'y =SinT'yg, - s i
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